LF{—3I 2 A hay s ) — K

AN
=

BT

No.

i 2026 ¢ 4 H 1 H
A ARE R R RFEAE L5 GB0607060
DEENHEASE LRI
TS J25 T VG S T 0 SR HE PN 302475 Ml
TEL:082-425-1421 FAX:082-425-1423
BAFmES LT X&H
T k2 4 | REENMH TSI
A £ H
moAN T & O | FAR~EAR

AW A 0w mmE P

3H21A~6H20A, 9H21A~11A300 (EMERIE) ZFLLAS O HIR IS IR ®

aryy Y — s DFTIALERT

it & o & §F &
ay 7 J—hko R AGv7T RAIATY7 o= | B O KRSHE | B AL FOFEME
Eory | TRERIC K DR - cm mm W&k B E
S | 24 8 40 BB
o~ A ~ DFEIE BEON5 M FE AR HEM O KHE IOV N Roafk
% ‘Jﬁl B OFESE 15 FH B B F0EHE Tovh VY H RS R R BB
DI D
BHOT DY V) ARSI & DR i A B FRAR BE=r 7Y — hOBUARER —  ke/nd
BREE= > 7 U — | O BRE B R — oV U — NORE — T
1 JK DFEIE {E A B SEH KE AL MR XL 60 %
fﬁ'i {/It TR TN B o FlEE M OV F & {5 AR OB B R E | AFREAM Lo BIEE O LR
o | BALDEHRE — ke/mBLT | BAKED HEMEO R —  ke/m
» B IR O BE & SRR A B = H | Bz A NEOBEHED TR —  ke/nd
H Xk B ED IR
R — % | WEMEE DA T 7 XE — cm
A5 7ua—0EKE
Y I 7 S <
AV |EEEL UBE =Y A MEREH BE g/af 3.04 |NaOeq % 9 —
Bkt | S5 — } FiidE - BE g/ci — Na:Oeq % © =~
" TIRVYIRBIEYE Dok & [ BB | mepe o/t | MORISY
No.| FE ¥R PE M S0 S 4 kB D X 0> 6 géﬁiig - T DA%
# Koy| RSk & w | M | R y
an | © | e TR oy i ERENT /N2 A |EAZAR—E| BLLT | 2.95| — |[2.56[3.5E1.5
B @ | i HA R BT EdL A | ELEAN—W| BLLTF | 2.8 — |2.66]7.0£2.0
1@ — = = — — — — — —
a | @ | W 4020 | BUK BT RENT /N2 1 A [ErsrA—1E| 40~20 [ 7.95| — [2.63]0.50.5
B | @ | em2010 | BA BEHT RWENT /N2 H A | EAZNA—E| 20~10]6.97| — |2.63|0.5+0.5
M@ | Mem 1505 | S I ik Bog A | bk 16~5 | 6.35| — | 2.640.5+0.5
BEHD[ o, [77)2ISVI0L i | ABJBIKAI (HEYET) Na:Oed | 0.7
BREIO| - I = % =
BB O A — |7J<0)@i~“ﬁ1) | kAR DK (HETK) | B HEATyY TS | —
B H oA ED | AR | - | wEH | — | =5 yokommrs ™ -
i & #F7 ke/od
AV M| BRI K Y HIBHO [ MEMO | MEHO | HEHO | B | HEHO EFFIO BAH DT
270 — 159 543 242 — 426 371 267 1. 89 —
Kt Ao b 59 % | kA ¥ - % - 3 42.8 %

S

EEEERS & UCUTICRTHIM, BAMELZEELET,
RFNFIE L6 H 21 H ~9H 200 (FH#)CX0.15%¥4, 128 1H~3H20R (%&31)CX0. 10%H
B OEERAEL, BB OERRICOVNTIE, Wik LIcEETLEANH5,

EMRIER ORRE 2R L2 EE

T4 )




V=37 A bavy ) — bEAHEE

B & o & & &K #

a7 Y —hO N 2377° R4FA777° 70 | A OJRRE | B A D ORI
ey | RIS K DR - cm mm ks
@ 24 8 40 BB
EENRER v WTHOEBZIZELD 10 %
gl ¥ T\‘i _ 0. 85 _ _ 1 _ al = 1.21
B IR o al — oV 1.21 @2 .1 AT 1.21 s = L3l
100 10Q/ 3.0 a3 = 1.25
o 1.0 — 1.95 a = 1.25
_ 2.0XV
100
Bic A B m m = a X SL = 1.25 X 24 = 30.0 30.0 N/mif
KEAL N W/C | m = a + b X C/W = -12.800 + 25.600 X C/W
_ b _ 25. 600 _ o
W/C =———""= 350 + 1z.800 ~ 100 = 59 59 /e
BALK W W THOEKIZLY 159 ke/nd
. e W 159 B .
Bl I5 2 X = X =
B A v MR C C W/ 100 =5 100 270 270 ke/nf
Cv Cv = C + BBE = 270 ~ 3.04 = 89 89 ¢/mi
TR A A = FREHBFME X EXRE(%) = 1000 X 4.5(%) = 45 45 @ /m
B OBESERZ| Va Va=FHAEHE - (W+Cv+A)=1000— (159+89+45) =707 707 @/m
IR P s/a | YTHDOERKICLD 42.8 %
AN E B S v Sv=Va X s/a(%) = 707 X 42.8(%) = 303 303 ¢/nt
Svl | ®Svl = Sv X 70(%) = 212 212 @ /ni
Sv2 | ®Sv2 = Sv X 30(%) = 91 91 @/ni
S1 @S1 = Svl X FE(2.56) = 543 543 ke/ni
S2 ©®S2 = Sv2 X HEE(2.66) = 242 242 ke/d
BN LR R B Gv Gv = Va — Sv = 707 — 303 = 404 404 @/nd
Gvl | OGvl = Gv X 40(%) = 162 162 @/m
Gv2 | ®Gv2 = Gv X 35(%) = 141 141 ¢/m
Gv3 | ®Gv3 = Gv X 25(%) = 101 101 @/m
G1 DG1 = Gvl X #HBEE(2.63) = 426 426 kg/nd
G2 ®©G2 = Gv2 X JBEE(2.63) = 371 371 ke/md
G3 @G3 = Gv3 X HE2.64) = 267 267 kg/m
B IR TN 5 AE AE=CX¥ME(%)=270%0.70(%) =1. 89 1.89 ke/nd
B = #* ke/mi
AU | IR 7K MEHO | MEHO | MEHO | HEHO | HEMO HEHO | IRFIAIO | IRFAIO
270 - 159 543 242 — 426 371 267 1.89 —
KAV B 59 % IKIEEM — % AIE A 3 42.8 %

ik




